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1. Maamaamﬁmﬂﬁ?ummwéaa?mw I AT wWen § B

You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required

qualification as per our advertisement, your candidature will be rejected.

2. 997, 80 T & JFT GEA-GRAM F T A § AR e & rafr 90 e §)

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
90 minutes.

3. R fawedt afgd axgiess g & 9o gt oot & fad oe awifgew v & w6 gem

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. 9AF WA H T 01 3F g HR TIF Iad 3ok F AT 0.33 HF FIer eI
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.
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5. Sreett  3eaR 4 ¥ T e e ufa afed oI HTTANHR Feer-qecrent & S|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. m;nﬁrmwm:ﬁmgﬁaammw. grﬁ%ﬂﬁqiéﬁmaﬁaaaﬁ’raiﬁ?amaﬁ
IR & TTA T8 1

- You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. T e ¥ FOIT 31 Fea & 9L ITee Seal AT SATeeTl
Multiple answers for a question will be regarded as wrong answer.

8. m'm“aﬁﬁﬁqﬂama-gwa:m Y INTAHR Feax-gfem # v v TuE W o

=fgw|

Question booklet code printed on the top right corner should be writien in the OMR _answer sheet in the
space provided.

9. ma-gﬁawﬁmmmygwﬁa@r%@
Enter your Name and Roll Number correctly in the question booklet.

10. mmm.mﬁmqﬁmmmma:ﬁamwﬁmm|
All entries in the OMR answer sheet should be with blue/black ball point pen only.

1. mﬁﬁﬁﬁﬁﬁﬁmﬁamw—ﬁaﬁwmmml
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

Computers, calculators, mobile phones and other electronic gadgets. text books, notes etc., will not
be allowed inside the written test hall.

13, ofia 9ot & 9T mwmm-gﬁawaﬁma?mﬁﬁﬁwémagmm
m-g%ﬂﬁﬁwﬂmm@ﬁqﬁmwﬂl

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

14, SeeT-qfEaET 3Tt 3T O T F €
The question booklet can be retained by the candidates.

15, qﬁm%mdﬁ*ﬁmmaﬁqﬁmﬁﬁaﬁﬁa@ﬁaﬁ%l
Candidates are not permitted to leave the examination hall during the first hour of the examination.

A 2 1489
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aFNme-dt — zgdwafas Awrfa® / Technician-B — ELECTRONIC MECHANIC

1. Soagiiad Afhe H S SIS FT WUHS & &7 872

What is the primary function of a Zener diode in an electronic circuit?

(a) F&YS dieear # dg & AT / To amplify the input voltage

(b) ad aeear @ s9 & AT/ To protect against reverse voltage
J (¢) TFH &R divear @Eaf ve Fr & W / To provide a stable voltage reference
(@ ffoea gffc # & B9 & 1 § F19 F& F T/ To act as a switch in digital -

circuits

2. o Ry 0w A Regd awr varfed g1l & o 3w RFE 9ER A S wafee g 87

What type of energy is stored by an inductor when an electric current flow through it?

(a) oI FaT / Thermal Energy (b)  TIFAF Falt / Mechanical Energy
(¢) THEA® FaAT / Chemical Energy (d)  dehrT Sl / Magnetic Energy

3. & Hffey & wAW Wggd arer wery § AR oAt & @ queesor g wAe g afg
FA{eT A i Az FAeT B 1 gorar F @9 § ar T A i FRex B H alier
T Y g

Two capacitors have the same dielectric material and same separation distance between the
plates. However, Capacitor A has larger plates than Capacitor B. How do the capacitances of
Capacitor A and Capacitor B compare?

(a) T A # oIRT B 1 gt # 3™+ «1RaT & / Capacitor A has higher capacitance
than Capacitor B

b) aRT B &7 aits A #r g #F 3™+ ailar & / Capacitor B has higher capacitance
than Capacitor A

() aiF A 3R «fs B $r enRar &= & / Capacitor A and Capacitor B have the same

capacitance

(d) few T fAfase & e W enfkar & Jo=r 7t H ST Fepcr & / The capacitance cannot

be compared based on the given inputs

A 3 1489
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4. FAFCHAE wife &, FRa aEdET e giforeey (BJTs) 3% ReaT-HiFrass-afdssetr Freg.
g gifoee (MOSFETS) & AU =i &1 e war 32

In electronic circuits, what is the mode of control for Bipolar Junction Transistors (BJTs) nnd
Metal-Oxide-Semiconductor Field-Effect Transistors (MOSFETS), respectively?

(@) BJT aleear-@4fa gid & 9 i MOSFETs ¢RI-SRf3a @1 & / BITs are voltage

controlled while MOSFETs are current-controlled

(b) BJT ar-frafyg e & a9 fx MOSFETs dleear-fdifya gid & / BITs are current

l controlled while MOSFETs are voltage-controlled
(© BJT 3R MOSFETs 4 atecar-Mang € / Both BJTs and MOSFETs are voltage
controlled
] (@) BJT IR MOSFETs ¥ adamm-Rig € / Both BJTs and MOSFETs are current.-
controlled

5. ﬁﬁmmﬁ'ﬁﬁhm'wmwﬁ?
What does "hermetic sealing" of electronic components means?

(a) Whruﬂwm#amﬁr*ﬁvwa@mﬁaﬂ?aﬁr-q\tﬁmmfcreatingan

airtight and moisture-proof seal to protect from environmental factors

(b) weHi F e armwar # IR T tF 8™ / A method of improving electrical

conductivity in components

© WU F Iy F QAT JUWIAF FET T T YRFIT / The process of applying

protective coatings to prevent corrosion

(d) 9FH a7 IUeTT F AT geat # afr geFar @ 61T / Enhancing the thermal

conductivity of components for better heat dissipation

6. uzb-Acaﬁzﬁ,w#mﬁaﬁloon#mwwoOhmsﬁgﬁmm%laﬁsw
mnﬁ?ﬁaﬁﬁ?raaﬁwzoommammmuﬁamwm

In an AC circuit, a capacitor has an impedance of 100 ohms at a frequency of 100 Hz. What
will be the impedance of the same capacitor if the frequency is doubled to 200 Hz?

(a) 100 ohms : (b) 200 ohms
(¢} 50 ohms (d) 25 ohms

Wﬁﬁwm#mmmwﬁ

What is reflow soldering process in electronics manufacturing?

@ ARG wfbe M (PCB) #F 3R 2 3K T & T/ To shape and form the Printed
-Circuit Board (PCB)

(b) Y-BYT HTH F g faega daer s=6r & T / To create an electrical connection between

through-hole components
(c) PCB WX w= YRIcA® HfET s F v /70 apply a protective coating to the PCB

() PCB W §IBG-ATST Fulicy (SMDs) # wlesT A & fAT / To solder Surface-Mount
Components (SMDs) onto the PCB

-3
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81200 O B TafAE Psoll ATl UH CETER 240V AC Rega T ¥ 31 71 gfadhaw g
# 120 gAT §l A FAEEFR 100% g7 €, o gfachas uar X e deear Fr €7

A transformer with a primary coil of 1200 turns is connected to a 240V AC power source. The
secondary coil has 120 turns. If the transformer is 100% efficient, what is the voltage output
on the secondary side?

(n) 24V AC b)) 24V AC

(©) 240V AC (d) 2400V AC

9. 0dBm & @AJeT AFT T F47 82
What is the power level equivalent to 0 dBm?
{(a) 1mW (b) 10 mW
(c) 100 mW @& 1w

10. 9% fPerg-warg &, afX J 3R F & soqe 399 (3% 1) & IR oD e | 3Tm A oRefda
giar g, ar U3 GHAT & 98 [Pau-rarg Y e fRufa Q = geir?

In a JK flip-flop, if both J and K inputs are high (logic 1), and the clock transitions from low to
high, what will be the output state Q of the flip-flop after the clock transition?

() Q &I LW / Q will toggle
(b) Q, 0 9T BT g I / Q will be set to 0

() Q, 1 9T AT & AWM / Q will be set to 1
(@) Q Mo Bufd & wa= W / Q is same as the previous state

11. U&F EUF F3cT A IR Favwarg gl § 3R uiw & a5 fde iy & @ar &, @ @
freg-raia 0 W A g1 &) R 77 FEw 1 MHz v sigfed o ifdder § 3T & oar
FI5ET @ IO welr wenfad Rufaat & sena A e FRufy & amw s & Reaer e
FqIRT?

A decade counter consists of four flip-flops and is initially in the reset state, where all flip-flops
are set to 0. If this counter is connected to an oscillator with a frequency of 1 MHz, how long
will it take for the counter to go through all its possible states and return to the reset state?

() 1 FEHAFS / 1 microsecond (b) 10 AEFIASS / 10 microseconds
(¢) 1 fA@%E / 1 millisecond (d) 10 TASIEHS / 10 milliseconds

12. €A AT & He 7 "Iar e g F77 g &2
What does the term "gauge factor" represent in the context of strain gauges?
(a) T AT & dAUHS ?OTUTIH? / The temperature coefficient of the strain gauge
(b) TRFH ﬁ'ﬂ_’iﬁ F 9fd B AT Hr GdgAMedr / The sensitivity of the strain gauge to

mechanical strain
() F&T A3 & MA F uf3VY / The resistance of the strain gauge in ohms

(d) ¥ A3 &Y AT FEgar / The manufacturing tolerance of the strain gauge

A 5 1489
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14.

15.

16.
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4:1 AedoFTY #, & H9F U A, B, C 3T D afde gl ax 31 @Afase @ §, 3
S1(MSB) HX SO(LSB) afaw arelr & giver Famor aiget &, & gfdar @g=er @Afase (S0 3R
S1) &I ®iT AT TAoA BT & &7 7 Afase o C &1 937 &?

In a 4 :1 multiplexer, if you have four data input lines labelled A, B, C and D, and two select
control lines labelled S1(MSB) and SO(LSB), which combination of select control inputs
(SO and S1) will select input line C as the output?

() S1=0,S0=0 () S1=1,80=1
(¢) S1=0,80=1 (d S1=1,80=0

fagga aRuy & ELCB & yruids & #ar g7

What is the primary function of an EL.CB in an electrical circuit?

(a) 3NaT T qEw % f&d / To protect against overcurrent conditions

(b) ¢ T ikl % ol / To protect against short circuits

{c) 31;—1‘!"1?5»71' qT A3 e # fAT / To protect against earth leakage or ground faults
(d) dleeaT ¥ 3aR-derd & RFAIAT FA & T / To regulate voltage fluctuations

TEd a3t ADC YR Fie @1 §7
Which is the fastest ADC type?
(a) HF® FfeadesT ADC [ Successive Approximation ADC

(b) B Getet ADC / Dual Slope ADC
(c) Faler ADC / Flash ADC
(d) T&@9#T 3%¢r ADC / Sigma Delta ADC

wF s wfee ¥, {ts affe (10) & o amff R & a8 W v sr9gaeEe el
&1 JTUfRS 30 &4 §?

In an electronic circuit, what is the primary purpose of a decoupling capacitor placed near the
power supply pins of an Integrated Circuit (IC)?

(a) TRfase areear # 6= F foT / To amplify the incoming voltage

(b AC Taerer 1 3HaUYT Fl 3T DC {7 A 9@ aR= & fA¢ / To block AC signals and
pass DC signals

() IC Wﬁ@:ﬁma'?@'ﬂ'WWWWW*%U/TOpmvideadirect

connection between the IC and the power source

@ IC ¥ deear # R =R AN 329 Imgfed FAgpfa #r fMheet A & AT/ To stabilize
the voltage supplied to the IC and filter out high-frequency noise

6 ‘1489
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17. A Hgicd TFIANHRR F T 3AdR W 8 goR @1 giforey Rsaw &1 suaer fean
ST 72

Which type of transistor configuration is usually used for audio frequency amplifier?
(a) WA 3c8SFH / Common Emitter (b) HIAFT Folded / Common Collector
(¢) ¥WHFT HR / Common Base (d) S A4 / None

18, 3IE & ToIw PIV g forde Aefla wear 872
What does the term PIV for a diode refer to?

(a) 3 greTar &1 &TACT / Forward voltage withstanding capability
(b) T alecar #r &HAT / Reverse voltage withstanding capability
(e} 3T 4wy &1 &A1 / Forward current withstanding capability
(d “»'R-ﬁ'q T & &THAT / Reverse current withstanding capability

19. PNP giforex &, sfter arr aes a1 &
In a PNP transistor, majority current carriers are:

(a) TME ATFA / Acceptor ions (b)  &IET 3T / Donor ions
(¢ 8 / Holes (d) HFA Folagia / Free electrons

20. BC147 €& ¢
BC 147 component is a

(a) 3SMAE / Diode (b) ifeReT/ Transistor
{¢) SCR (d) MOSFET
2l. ———— $T S THFE AT meter! FI
The SI unit of —————— is siemen meter-1.
(a) 9fAA / Resistance (b)  SFORIURAT / Resistivity
" (¢) dreleT / Conductance (@)  IIFFHdr / Conductivity

22. 220 Q, 5% JeAMTT FREF F AT 37 Fig F4r §?

What is the color code for a 220 Q, 5% tolerance resistor?

(a) T, &, 3T, AT / Red, Red, Brown, Gold

(b) AN, AR, FAT, AT / Orange, Orange, Black, Gold
(¢c) WIS, &, e, I / Red, Red, Black, Silver
(d) <N, AER, @, G / Orange, Orange, Black, Silver

A 7 1489
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U I9FIOT 100 mA URT & AN 48 V INYFd G@RT Fafaa giar ¥ i 3uahor gan ver
% 3wl e AR 1.5 W o S & w7 F Rraeh fasre walE g 22

A device is powered by a 48 V supply with 100 mA current. How much power is wasted as hol
if the useful output power provided by the device is 1.5 W?

(@ 15W (b) 33W
(0 63W (d 21W

Wmm;ﬂ%ﬂaﬁﬁmﬁﬁaﬂﬁ#mmm#(hmwé.l
3cHIH ORI §, Ic HUEF GRT &)

In a common emitter transistor, which of the following is true? (I is the base current, Ig i« the
emitter current, Ic is the collector current)

@ Ic=Is+1Is ) Ic=Is—TIp
(© Ie=Is-1Ig (d Is=Ig+1Ic
fa*ga Y @ Wi gfigyr #,

In a purely inductive circuit,

(2) dleedl ORT & 90° A e gt & / voltage leads current by 90°
(b) ®IRT Teear ¥ 90° T HITHA & /current leads voltage by 90°

(c) Treedr 4T | 90° 91 ® / voltage lags current by 90°

(d) aleedar 3R aRT TAET &Har (0°) # & / voltage and current are in phase (0°)

difete wfde @1 WETa Y Far ¥

What is output Y of the logic circuit?

: [

(a) A+B+C b A+B+C
¢ A+B+C d A+B+C
8 1489
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%mmﬁaﬁ%ﬁ%@aAﬁrBia@mﬁaﬁa&ﬁm%W%maﬁﬁmuﬁ%%ﬁaY
& fae &1 «ifos afée &

The given figure shows the waveforms of two inputs A and B and that for the output Y of a
logic circuit. The logic circuit is:

O
(e} T T- Ty T t
) |
be—4
o Tl T:I TJ T«i t
) 4 .
0 T, T2 Ty it
(a) AND AT / gate (b) ORIAT/gate
(©0 NAND €/ gate (d) NORANZ/gate

e e RN tFwET F1 AR dieear o 3R 3wafAss Al dicear AT FAA: 48 dB
3R 2dB &, a sHar 33afave Az IR 3T g

If the differential voltage gain & the common mode voltage gain of a differential amplifier are
48 dB and 2 dB respectively, then its common mode rejection ratio is

(a) 24dB (b)y 96dB
(0 46dB (d) 50dB

9 TrudAeRR # 3eie YR R, ¥ A H gRade

A change in the value of the emitter resistance R, in a Difference Amplifier
(a) oY AS A A, BN UIAT FIAT 8/ Affects the difference mode gain A,

(b) Iafass A3 o A, FY yInfad Far § / Affects the common mode gain A,
(¢) A&t @ el T § A, AN A,/ Affects both A, and A,
@ A, 3 A Rl =1 ot wenfda €l FXaT § / Does not affect either A, and A,

afy AM SEROT TR3ET #, 1000 kHz aBF F gfed IST 100-5000 Hz & #1ea faerel Z@nm
Afggere fFam o &, & kHz & daa $v ds 4@l @ g2

If in an AM broadeasting studio, a 1000 kHz carrier is modulated by an audio signal of
frequency range 100-5000 Hz, what is the band width of the channel in kHz

(a) 5 kHz (b) 4.9 kHz
{(c) 995 kHz (d) 10 kHz
9 1489
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31. 30MHz£raTq%ra?ﬁvaéa®TaﬁgmdamaﬁTaim§wﬁ
Find the length of a half wave dipole antenna for a frequency of 30 MHz
(a) 5m (b) 10m
() 20m (d 50m

32. wwaﬂuaaﬁaﬁqﬁgﬂéméwﬁmlonﬂ/mmqﬁ#sﬂééméﬁ
4pF/m%|$ﬁﬂEﬁf3®ﬁm9ﬁWﬂT%‘?

I A coaxial cable has an inductance per unit length of 10 nH/m and a capacitance pur |
length of 4 pF/m. What is the characteristic impedance of the cable?

(a) 2.5ohms (b) 50 chms
l (¢) 75 ohms (d) 250 ochms

33. 555 mmmﬁﬁwﬁmmmmaﬁm

'The pulse width in a 555 timer based monostable multivibrator is given by

(a) 0.69RC by 1.1RC
) 1.38RC @ RC
34. az-ﬁﬁwamﬁzwmmwmmwﬁﬁwmmm%l 3aA
T AND A€ ¥ gaq & ———— e
A Half adder can be constructed using two 2-input logic gates. One of them is an AND ¢l
The other is ———— gate.
(a OR (b) NAND
(c) XOR (@ XNOR
35. eﬁrﬁwmwaﬁﬁmﬂtﬁ———mﬁﬁwmama
A logic gate with 6 inputs can have ———— possible input combinations.
(a) 8 () 16
{cy 32 (d) 64

36. aﬁwdﬁm‘ﬁmuﬁamwmwmﬁ,mﬁﬁ
Areedl #T Ve = + Ve 3 L= OmA (FT3) ToffaT ST &, o eifoeex & HaTe M A
2

If in a transistor Common Emitter configuration based switching circuit, the collector
emitter voltage Vee = + Vec and L. = OmA (approx), what is the region of operation of {

transistor?
(a) it / Saturation (b)  WfFET / Active
(© F-HP [ Cut-off () 3I9Fd # ¥ F1$ FE / None of the above

37. (21.125)0 &I SFANETY A3 §
The binary code of (21.125)10 is

(a) 10101.001 (b) 10100.001
(¢) 10101.010 (d) 10100.111
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48, B 1 3 2 & i@ wfée & #idis 1 43 F1 §?
What is the formula for time constant of the following circuits in Figures 1 and 27

% R fL-l

2

Figure 1 Figure 2
(a) RL, C/R () RL,RC
(¢ L/R,RC (d) RL,R/C

39, wH LVDT # St 3R afdias sise & gear o &

The number of primary and secondary coils in an LVDT are

(@ L1 b 12
© 21 d 22
40. @ s wffe ¥ 3cue FF & @A & H0FIA AF F ——— % F ——%
% dgo7 & w9 O AT & w0 & qftenfa frar arm g
Rise time of any circuit are defined as the time taken for the Output to rise from —-——%
to ———————— % of the maximum value.
(a) 20,80 (b) 30,70
© 5,95 (d 10,90

41, "RFee # 0 ¥ 10 MHz 3R 20 MHz & 3=a 39 o Imgfeaal 1 3R &3 &1 i
Y foheey Y SWFd RAfseani & @ fersa B aer &, af R v & et #
wrufRear & et

“Filter has to reject frequencies from 0 to 10 MHz and 20 MHz to infinite frequency”. If a filter
has to be designed with the above specifications, what type of filter shall be preferred?

(a) @ 9 Thect / Low pass filters (b) &3 9§ e/ Band pass filter
(¢ ¥z e feeT / Band reject filter  (d) 39 9rd et / High pass filter

12. afE 3=a O freex & U 3® 60 dB/EAF H HEWHA § Al Teel & 7gedd HA Far
gl =nfge?

If a Roll off of —60 dB/ decade is required in High pass filter what should be the minimum
order of the filter

(a) 1 (b)y 2
() 3 d 4
A 11 1489 _
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43. mswwwmqﬁaaﬁumﬁmm%?

A Megger is a device used for measuring

(a) 3%u diecar / High Voltages (b) 3Ta ¢ /High Currents
(¢) %= aidr / High Capacitance (@ 3= ufader/ High Resistance
[] 44. OPAMP # zzd wufeT ¥ AT Sel &
Slew rate of an OPAMP is measured in
(a) V/ps (b) mV/ius
] © mVis @ mV/ms

45. ﬁﬂamﬁﬁﬁwm#fﬁmma?wwwmmmwﬁaﬁﬂnﬂ
Y T T ¥

The ability of a power supply to maintain a constant output voltage despite variation in th@
input voltage is termed as

(a) < R3fAg#sr / Shunt regulation (b) HEGT faTFeT / Series regulation
(¢ sa fafasA / Line regulation () @13 RATA / Load regulation

46. wﬁaw%ammaﬁ%wﬁ%mﬁ,éﬁ-ﬁﬁﬁﬂaaﬁmm&aﬁ@%ﬂm

(Tonmﬁ?rsﬂ‘?fﬂﬁﬂ'—-——-——uﬁm?ﬁ] '.
In a typical switching regulator configuration, the duty cycle of the transistor’'s buang
waveform(Ten/T) will ———— as the output voltage decreases.

‘(a) 3f& / Increase

(b) FHT / Decrease

(© % aikade @& / No change

(d) 3T AFHA ¥ FE waU A& / No relation with duty cycle

47. aﬁﬁ:ﬁaﬁzﬁﬁﬁ-ﬁﬁw%m%m@maﬁaﬁwﬁmm%

If in a particular circuit the output is proportional to the slope of the input, the circuit is called

(a) gé1ieT | Integrator (b) &da / Clipper
() FAFI / Clamper (@ faRE® / Differentiator

48, Wtﬁaaf(t)ua?wmﬂ%aﬁ(t)aamﬂﬂwﬁa:ﬁv

A function f(¢) is an even function if for all values of (£}

(@ fE)=f(-t) ®  f(t)=-f)
© f&)=Ft+T/2) @  ft)=-ft+T/2)

A 12 L
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19, faSrel SEwER & wedd AR & A Tdh gl & §ods dfAees |ig & AR F 39T
fra &7 = F v fFar T 82

Laminated iron cores with each lamination insulated from one another are used in power
transformers to reduce

(a) feeefaa IH AT / hysteresis losses (b)  TGT-4RT ST / eddy current losses
(c) o &r gIfe / copper losses (d) woIFH g™ / flux losses

50. TF IHIRAWET F gAY GRUY 1% FFRHS JAAAL Fe Bl g1 ey Qe vera a7
& faT 3o 3@ & TFIfBRR & v 3Mavgs ~gaAdH a9 §

Feedback network of a certain oscillator provides 1% positive feedback, The minimum gain
required for the amplifier section of the said oscillator to provide sustained oscillations is

(@ 1 (b) 10
(¢c) 100 (d 0.01

51. 30T H ey 3R Rrasw & 2R & Qv maai ot SIS @sar $rosame

forar sar &7

Which coding scheme is commonly used for representing characters and symbols in
computers?

(a) ASCII (by TCP/IP

{¢y URL (d) HTTP

52. 3Td-Ifd 22T dawor F (RS dhaa o 39T = FT IrRATHE ST F24r 82

What is the primary advantage of using differential signaling in high-speed data
transmission?

(a) 3T 22T &Y/ Higher data rate

) = ﬁa:{l;?f ﬂﬁ'ﬁ'ﬂ‘ aTHIoT / Reduced electromagnetic interference
(c) T Taael $r WIT / Lower power consumption
(d) 3T Hadha YA/ Easier signal processing

53. gferaer dseifora &, sfPeafda A+ B &1 @& F41 §?

In Boolean algebra, what is the complement of the expression A + B?

(a) AB (b)
(¢ AB ()

+

B
o] ]

+

A 13 1489
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54. FM@W%WWW%@HWWWWNWWWﬂJ

Which part of the electromagnetic spectrum is commonly used for FM radio broadecast iy’

(a) S&%/band

® C d% / band
l (¢0 HF @9 mﬁ‘iﬁD/HF (High Frequency)
@ VHF (9§ 337 sigfea) / (Very High Frequency)

1 55. WW\'MG’R—TE‘HTET%‘U

An ideal voltage source should have

(a) TAarF® FE Ao | Large value of e.m.f.

(b) Fa.arE® Over #Ed / Small value of e.m.f.
€ WI B AT/ Zero source resistance

(d FaAd g 9fade / Infinite source resistance

56. mﬁaﬁm%m@aﬂﬁmwa:ﬁmmoofazqﬁm(bps)wmm
mﬁ%ﬁvwwwﬂ?aﬁrﬁa‘émm

What is the minimum bandwidth required to transmit a digital signal at 2400 bits per s¢cd
(bps) without distortion according to the Nyquist theorem?

(a) 1200 Hz (b) 2400 Hz
(c) 4800 Hz (@ 9600 Hz

57. ﬁmﬁ#ﬁﬁﬁdﬁmﬂ?mmﬂéﬁmaﬁammww
The forbidden energy gap between valence band and conduction band will be least in casu of]
(a) O/ Metals (b) eTarerd / Semiconductors
(¢ FAHR/ Insulators (d) IR #3117 All of the above

58. 10kQ%W(R)WlOOnFﬁW(C)WWRCWﬁWW
T 87

What is the cutoff frequency of a low-pass RC filter with a resistance (R) of 10 kQ andl
capacitance (C) of 100 nF?

(a) 1.59Hz (b 159 Hz
() 159 kHz (@ 1590 kHz

A 14 _ ]
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59. JFET & far 1 30F woded Afbe & Fad e &9 F T 31 @l §
The action of JFET in its equivalent circuit can best be represented as a
(a) &7 AT YRT WA/ Current controlled Current source
(b) uRT HIFT Aeear Wd/ Current controlled Voltage source
(c) drecar AAfT aiFedr Wid / Voltage controlled Voltage source
(d) dreear IR GRT WG/ Voltage controlled Current source

60. mWwa@ﬁﬁﬁmmmm*m@ﬁmm%
The current gain of a bipolar transistor drops at high frequencics because of
(a) eifaFey 4ifar/ Transistor capacitances
(b) 3MUR #F 3T YT &1 THT / High current effects in the base
(¢) 3ETSa RO T/ Parasitic inductive elements
(d) YRfAF usta/ The early effect

61. B & JRuy F ydQuwr R 3R sz D &1 w1 §

In the circuit of figure the function of resistor R and diode D) are

)i

""""" D
A
- LEDT
(a) o Fr AT = 3 LED &t H¥aeear & F9=r & T/ to limit the current and to
protect LED against over voltage
(b) drecar H AT = 3 LED FF JO-4RT @ F9 & T/ to limit the voltage and to
protect LED against over current

(© URT & WAT F& 3 LED &7 9T 31 diecal ¥ a9« F AU/ to limit the current

and protect LED against reverse breakdown voltage

(d) 3WFT H & HIS G/ none of the above

62. 3o afey Ua former 3qate fegen: FOR & fow fRam sar §
High gain antenna used for point to point communication
(a) &9 @&t / Dipole antenna
(b) &l TS/ Yagi antenna
(¢) UE@wfAe UEAT/ Parabolic antenna
(d) wTafeeeA® USIAT/ Omnidirectional antenna

A 15 1489 -
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63. U AM HEROT I HftRdH GATar 33.33% ¥ ar SSB-SC &I gardr F1 27

If the maximum efficiency of an AM transmission is 33.33%, what is the efficiency of S5 sa

(a) 50% (b)  66.6%
€ 70% (d  100%
] 64. 600degcﬁmmﬁ3wmwaﬂmﬁa:m,ﬁmﬁﬁ®ﬁﬁ#mu@mﬁau'l':
&7 3qFET R Siar 87

To measure high temperature in the range of 600 degC, which of the following metal banod
RTD is used?

(a) faaer/ Nickel (b)  drtar/ Copper
(o) cafesr/ / Platinum (d 8=/ Gold

65. ﬁmﬁ@ﬁﬁﬁmwaﬁauﬁaﬁmﬁwﬁm

Which of the following block is not available in a microprocessor?

(a) ALU ® RAM
(¢) ISIEST/ Registers (@  fa@=vr 378 / Control Unit
66. soslnsmmﬁ,ﬁmﬁﬁﬁﬁﬁmmmmm@aﬁTWaH%ﬂ
& fawar e 87
In a 8051 microcontroller, which of the following port is used as a multiplexed address and
data bus?
(a) W/ Port0 () W/ Portl
(c) 9I¢ / Port 2 (d) q1& / Port 3

67. Mﬂn@aawmﬂ?mmm%?
Modulation Index of AM is given by

(a) Vm/Ve () Ve/Vm
© Vec+Vm)/Vm (d) (Ve — Vm)/Ve

68. uﬁqiazsﬁﬂﬁﬁamﬂmﬁsﬁgu?,a?atmﬂw%

If five 25 pF capacitors are connected in parallel, the net capacitance is

(a) 100 pF (b) 125 uF
() 5pF @ 25pF

69. aﬁﬁﬁwmlowms%,a#mﬁaiﬂwaamﬂmﬂaﬁm% !

If the input ac is 10 V rms, the maximum voltage that will appear across the diode of a half
wave rectifier is

(ay 10V (k) 141V
(@ 20V @ 282V

A 16 : 1484
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70. SoFCiaFd H FoF Afehe T WATHS 3227 1 &7
What is the primary purpose of a clamper circuit in electronics?
(a) DC dioesT & AC aleest & giafdd aa & TAT/ To convert DC voltage to AC voltage
(b) FHASR Hohdl Pl T¢ld & AT/ To amplify weak signals
() Taa & DC TR FF WTATIRT #%] & fa¥ / To shift the DC level of a signal
(d) T T RATAST Icdeat FGt F T/ To generate square wave signals

71. S & Feferal wunt S5 BN § AR v Fzd A ar A g ¥ q@ F3A A Ao 3o
81T &, o @l &7 e S UEHT HT Ul AT 82

When two coils are tightly coupled and an increase in current in one coil induces a voltage in
the other coil, what term describes this phenomenon?

(a) TA-WFca / Self-inductance (b) AT WFHcad / Mutual inductance
(c) JIAA &R / Coupling factor (d) wfdsmen/ Impedance

72. frect & dey A A=faf@a & @ #la a1 Fu=r 7d &2
Which one of the following statements regarding filters is correct?
(a) Fe@Y wfafpar & &g 3i9® T/ Butterworth response has a sharp cut-off
by =da gfafsar fr ads 7 ve goe wfafar § /7 Chebyshev response has a flat

response in the pass band

(¢) gy wfafkar & gm-ds & FfA®T § / Butterworth response has ripples in the pass
band

(d) =T ufafpar & gu-ds F =TT & / Chebyshev response has ripples in the pass
band

73. I T FURFT C & HUREfdd URT 1 carr 3mafa fhar atar &, O 999 & @1y decar

gfiads & X 39 YR & S ¥

If a capacitor C is charged by a constant current I, then the rate of change of voltage with time

is given by

(a) CA by IC

(0 I/C (d I/2C)

74. I TRdl it dic #1 3M3eqe 17 B, o 36F @l Afase Ao 0" W ar e ararg
If the output of a logic gate is “1” when all its inputs are at logic “0”, the gate is either
(a) T&H NAND A1 v NOR./a NAND or a NOR
(b) TH AND AT U X-NOR/an AND or an X-NOR
{¢) U&H OR AT 'sh NAND / an OR or a NAND
{d) @& X-OR AT T X-NOR/an X-OR or an X-NOR

A 17 - 1489
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75.

76.

77.

78.

79.

80.

GET IT ON
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ofx 5 A TF HA 8
T 7

1f 5 men complete a work in 8 days, in how many days can 4 men complete the same work?
(a) 10

(b) 9

) 6

(@ T I e ¥ @ gaT Fe1 ey S AT ¥ / Cannot be found out with given data

%ﬁﬁwmﬁ%,ﬁ4amﬁ3ﬁrmﬁ%ﬁﬁ?ﬁﬁw

wfPasa gEasit (3 + 4i) iR (*2—5i)$3‘<=q13d?r?rﬂTﬂTﬁ, agf‘i’a:r&qﬁﬂ?sﬂ?ﬂ
yfamfted FXal &

Calculate the product of the complex numbers (3 + 4i) and (-2 —5i), where 4 represents the
imaginary unit.

(a) -26-231 (b)
(¢) 26+23i (d)

Wﬁx+y=0m2x-—y:9ﬁumﬁ§ﬁmﬁml

Find the point of intersection of ines x + ¥y = 0and 2x—y=9?

14-T
14 — 231

(@ ,-3) b @249
() (3,3 @ 24
cos (315°) &1 A AT ENE O
Find the value of cos (315°%)?

1 1
(a) T ® y

1 -1
(c) 73 . (d) =

fr FRdy wor &l R g x=e” %mm%,ﬁrmtsowwmawmg?

If displacement of a particle is given by x =¢*, then what is the particle velocity at time ! -

of

(@ 1 b 3
1
(c) 3 @ O

Rl frT T Ao ¢ F @, Ifx sin(@)=0.6, cos(@) F1 A T 87
For a given angle 8, if sin(@) = 0.6 , what is the value of cos(8)?

(a) 0.4 () 0.6
© 0.8 @ -04
18 148}
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